Instrukcja montazu gmoli dla / Crash bars installation instruction for

HONDA CBF 600 (08-13) PC43

/W sktad zestawu wchodzi: \

1. Orurowanie lewe.

2. Orurowanie prawe.

3. Sruba M12x80 mm z podktadka.

4. Sruba M10x70 mm z tulejkg dystansowg 26 mm i podktadka.
5. Sruba M12x70 mm z podktadka.

6. Sruba M8x80 mm z tulejka dystansowg 14 mm i podktadkami
i nakretka.

\7.2 Sruby imbusowe M6x20 mm z podktadkami i nakretkami. /

M=

www.heed.com.pl

Gurowanie powinno by¢ zaktadane tylko przez osobe wykwalifikowang. Nalezy zwrécic¢ \

szczegblng uwage na wigzki elektryczne, przewody hamulcowe oraz przewody gumowe
chtodzenia silnika tak, aby nie byty przycisniete lub nie tarty podczas eksploatacji o gmole z
powodu Zle przeprowadzonego montazu orurowania.

Cato$¢ orurowania zatozyé swobodnie dopiero na koricu skreci¢ docelowo.

1. Z lewej strony motocykla w przedniej czesci wykreci¢ srube silnikowa (Rys.1 pkt. 3). Nalezy
przy tym zwrdci¢ szczegblng uwage na tulejke znajdujgca sie pomiedzy ramg motocykla a
silnikiem. Tulejka ta ma zosta¢ na miejscu po zamontowaniu orurowania.

2. Wykreci¢ Srube trzymajaca stopke z lewej strony motocykla (Rys. 1 pkt 4).

3. Zainstalowac lewy gmol (Rys. 2 pkt. 1):

- z przodu nalezy go przykreci¢ sSrubg M12x80 mm w miejscu Sruby wykreconej w kroku 1
(Rys. 2 pkt. 3),

- Z tytu uzywamy $sruby M10x70 mm z tulejkg dystansowg 26 mm przykrecajgc orurowanie w
miejscu wykreconej w kroku 2 sruby trzymajacej stopke boczng (Rys. 2 pkt. 4). Tulejke
nalezy umiesci¢ pomiedzy orurowaniem a motocyklem.

4. Z prawej strony motocykla w wykreci¢ srube silnikowa analogicznie do kroku 1 (Rys. 3
pkt. 5).

5. Wykrecic srube trzymajgcq wydech z prawej strony (Rys. 3 pkt. 6).

6. Przykreci¢ prawy gmol (Rys. 4 pkt. 2):

- z przodu uzy¢ sruby M12x70 mm w miejscu $ruby usunietej w kroku 4 (Rys. 4 pkt. 5),

- z tytu przykreci¢ orurowanie srubg M8x80 mm z tulejkg dystansowg 14 mm w miejscu
Sruby trzymajacej wydech usunietej w kroku 5 (Rys. 4 pkt. 6). Tulejke nalezy umiescic
pomiedzy orurowaniem a motocyklem.

7. Potgczy¢ prawg i lewg strone orurowania w przedniej czesci Srubami M6x20 mm z zestawu
(Rys. 2,45 pkt. 7).

QDokrecié wszystkie éruby mocujace gmole. /




Instrukcja montazu gmoli dla / Crash bars installation instruction for

HONDA CBF 600 (08-13) PC43

The set includes (as shown on pictures): \
. Left piping.
. Right piping.
. M12x 80 bolt with washer.
. M10x70 mm bolt with spacer sleeve 26 mm and washer.
. M12x70 mm bolt with washer.
M8x80 bolt with spacer sleeve 14 mm and washers and nut.

1
2
3
4
5
6.
\8. 2 bolts M6x20 mm with washers and nuts. /

ﬁiping should be installed only by a qualified person. \

Pay particular attention to the electric beams, brake hoses and rubber hoses for engine
cooling, so that they are not pinched or they doesn't chafe during operation due to wrong
installation of piping.

During installation it is recommended to set up piping freely.

1. Unscrew engine bolt on the left front side of the motorcycle (Fig. 1 pt. 3). Pay attention to
the spacer sleeve placed between motorcycle's frame and engine's block. It should stay on
place after crash bars installation.

2. Remove bolt holding kickstand on the left side of the motorcycle (Fig. 1 pkt 4).

3. Install the left piping (Fig. 2 pt. 1):

- in front part screw it in place of the bolt removed in step 1, use M12x80 mm bolt from the
set (Fig. 2 pt. 3),

- in rear part screw the piping in place of the bolt removed in step 2 holding kickstand, use
bolt M10x70 mm with spacer sleeve 26 mm from the set (Fig. 2 pt. 4). Place the spacer
sleeve between piping and the motorcycle.

4. Remove engine bolt on the right side analogously to step 1 (Fig. 3 pt. 5).

5. Remove bolt on the right side, which holds the exhaust (Fig. 3 pt. 6).

6. Install the right piping (Fig. 4 pt. 2):

- in front part screw it in place of the bolt removed in step 4, use M12x70 mm bolt from the
set (Fig. 4 pt. 5),

- in rear part screw the piping in place of the bolt removed in step 5 holding exhaust, use
M8x80 mm bolt with spacer sleeve 14 mm from the set (Fig. 4 pt. 6). Place the spacer
sleeve between piping and the motorcycle.

7. Connect left and right side of the piping in front part using M6x20 mm bolts from the set
(Fig. 2,45 pt. 7).

QTighten all the piping. /




Instrukcja montazu gmoli dla / Crash bars installation instruction for

HONDA CBF 600 (08-13) PC43

M=

www.heed.com.pl







